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	On a scale of 1-5 how far do you agree that this source supports this inference?	
	Which extract(s) from the source support your argument?

	Churchill thinks that the UNO is unimportant. 

	 
	 

	Churchill believes only the US can keep the peace.
	 
	 

	Some countries and individuals have been criticising US actions.
	 
	 

	Churchill is worried the US will return to an ‘isolationist’ foreign policy like it did after the First World War.
	 
	 

	Churchill wants to help the US but believes Britain can only afford to commit a small force.
	 
	 

	Churchill thinks Korea is less important than Europe.
	 
	 



